p. 6 Example 2.1, Change from 90% to 99

p. 55, question 2.23, after “heat energy” add “is released”

p. 114 Second line from the top of table 4-3 should be changed to 


232 for thorium 

p. 122 Second equation from the bottom should add “ = 7.56 × 1018 atoms” for clarity.
p. 124, equation 4.52, inside parenthesis should read 
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p. 135, question 4.2, change to 27 microcuries, not millicuries. 

p. 152, last equation for example on the bottom of the page, “SI”, change denominator of the equation from “eV/cm” to “eV/ip”

p.161, below equation 5.21, should read “range in air and medium (cm)”

p.191, note in example 5.16 that the cross section given is for natural boron, not boron 10. 

p. 206, halfway down the page, fourth line after “Roentgen” change to read 1 couloumb is 3 times ten to the ninth sC. 

p.206,  last equation on the page, change to read 
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p. 215, label the equation at the top of page as equation 6.10a
p. 224, equation 6.15, units for “34” denominator needs to be “Gy” and another term “1 Gy/1 Sv” should be added next to it. 

p. 225, equation at top of the page, exponent in solution should NOT be “-10”, should be changed to “-8”

p. 234, label the equation below equation 6.46 as equation 6.47.

p.263, second line change 137mBa to 1.4 × 10-4 rad/µCi-day (3.8 × 10-5 Gy/MBq-day)

Change exponent values in D1 equation to read 10-5 (was 10-4) 

Change first exponent in D2 equation to read 10-5 (was 10-4) and last to read 5.42 × 10-3 Gy

Change D equation to read 1.09 × 10-5 Gy + 5.42 × 10-3 Gy = 5.43 × 10-3 Gy = 5.43 mGy (543 rads)
p. 271, question 6.5, change exposure to dose

p. 317, Fifth line from bottom, change EER to ERR. 

p. 330, twelve lines from the bottom, change from 200 to 250 keV.

p.331, table 7-15, change “Q” value for >0.1 -2 MeV to 10

p. 366, figure 8-7, drawing on the right, change “o” above arrow on the left to an “a”

p. 366, figure 8-7, in the box going from the L compartment to the Blood compartment, label the arrow “i”. 

p. 359, Figure 8.4, see hand corrections for italics, note that the “p” should be greek symbol rho. 

p. 361, second line from top, last word, change from mean to median

p.381, line before equation 8.27, change variable “t” days to italics (just t, not days)

p. 399, line above equation 8.41, change argon 41 abbreviation to Ar, not just A

p. 411, equation 8.54, remove “F” so DCF reads “DC”

p. 411, last equation, change denominator from 1.25 to 1.2. 

p. 413, Cross out parenthesis in third line (Figure 8.8…). Subscript on fB should read fTB

p. 414, last line should read 10 CFR 20

p. 418, last equation at bottom of page, immediately after equals sign, “2.5 mrems/DAC hr” and at the end of the equation multiply by 1.2

p. 419, equation immediately following solution “a” needs to have the entire quantity multiplied by 1.2 (should have brackets around entire equation then multiply by 1.2). 

p. 462, Example 9.5, equation 9.10, exponent in denominator should have a negative (1-e-t/RC)

p.465, last paragraph is continuation of above – eliminate break in paragraph. 

p. 484, change reference to equation 6.64b about halfway down the page to 5.64b. 

p. 514, change eighth line down from “Point Source” from equation 6.17b to 6.16b

p. 521, equation 10.16, last term, denominator for last term should be non-italics “h”

p.523, change equation 5.23 to 5.27

p.526, change second line after equation from 5.23 to 5.27. 

p. 527, denominator for HVL equation, change lambda to greek mu

p.528, change second line after first calculation from table 5-2 to 5-3. 

p. 533, top of page, change 0.1 mGy/wk to 1 mGy/wk

p. 614, equation at top of page, change value next to chi from 500 to 4500. 

p. 642 Equation 12.2, insert “+” between neutrino (v) and neutron (1n) in results of equation

p. 646, Example 12.2, first line, eliminate duplicate of “vale of” in the sentence. 

p. 649, equation 12.14, denominator, third term (water), eliminate number after subscript after cross section designator H2O

p. 652, equation 12.18, numerator should be italics lower case L.

p. 712, question 13.13, table, add after “Size interval” “in micrometers”

p. 767, last equation, denominator for the wavelength variable should be squared (λ2). It is correct after numbers are substituted. 

p. 776, second and third lines, add superscript “2” to cm, making it square cm. 

p. 799, question 14.33, add to the end of the question “and a sixty second exposure time.”

p. 830, question 14.28, change second c to “d”. Question 14.34 change 260 nm to 254 nm, and 4.6 to 6. 

p. 803, cgs column, 931 MeV is listed twice, eliminate one

p. 828, above answer 11.18, the two lines above are answers for 11.17, the third line above 11.18 is the answer for 11.16. 

p. 827, answer 5.46, change from 5134 to 6.1 times ten to the third power. For answer 6.32 add a third answer “c. 24.9 d”

p. 826, answer 4.47.c, the exponent should NOT be -9, should be -19. Answer 4.47.e, exponent should NOT be -18, should be -16. 

p. 826, answer 3.27, change 0.042 to 0.024. 

p. 825, answer 2.36.a1, change from 3.077 to 4.3 times ten to the seventh power.  Answer 2.37a1, change to 2.6 times ten to the eighth power. 2.37.a2, change from 2.999 to 2.997, and answer 2.37b, change to 2 and 50. 

p. 831, change “Activity mean...” to “Activity median...”
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